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SEXAD
sS4 Ma RSE
SM2 MTIRE 2 HBHY B (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2ot 9,737,570 8,448,550 1,289,020
2 1,194,027 1,079,125 114,902
z 1,836,000 1,836,000 0
= 509,214 497,935 1,279
2 6,198,329 5,035,490 1,162,839
S42 MM RS 8,004,783 6,814,839 1,279,894
2 644,027 529, 125 114,902
z 1,836,000 1,836,000 0
= 476,814 465,535 1,279
2 5,137,942 3,984,229 1,153,713
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2 344,330 346,428 £2,08
z 1,836,000 1,836,000 0
= 447,114 447,535 A421
2 2,882,212 2,056,799 825,413
ATNRSAE U BT 811,458 0 811,458
201 Yot 2 bl 7,000 0 7,000
01 A2 22l 7,000 0 7,000
O HLBSNSUTRSHE RS &8 23
=Bl 6,650,000 * 14! 6,650 0 6,650
O L2 SUSUTRSHE SYTET 49
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01 A&l 3,458 0 3,458
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402 212 X201 & 801,000 0 801,000
NEEEETES 801,000 0 801,000
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202,000, 000% 174 2 +50% 101,000 0 101,000
O dlgss 542 RSAL NBALY
300,000, 0002 300,000 0 300,000
O HHB SN2 HEF XA
440,000,000%1H 2 ¥0.909% 400,000 0 400,000
SYMY L THAY 29 27,500 2,500 15,000
303 £4 3 15,000 0 15,000
01 Z&3 15,000 0 15,000
O '2HE RSAEYS 24 F A4
15,000,000+ 14! 15,000 0 15,000
sg2esme BYE OB 51,156 54,720 3,564
2 29,330 31,428 ~2,008
< 3,776 4,197 A821
2 18,080 19,095 A1,045
201 Y2 2| 51,156 54,720 3,564
2 29,330 31,428 ~2,008
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= 3.776 7,197 Ny
2 18,050 19,095 A1,045
01 AL 22l H] 51,156 54,720 £3,564
O GAP Q1T 50t HE A A MY X
49,3592 ¥849DH 2 41,906 45,470 A3,564
2 29,330 31,428 £2,008
= 3,776 4,197 A421
2 8,800 9,845 A1,045
e S48 SUE Yy 1,605,440 1,302,440 303,000
il SACSE ALY 848,000 570,000 278,000
307 2120l & 503,000 225,000 278,000
02 212HY AR E 503,000 225,000 278,000
O gy S HAFAS
2,0002! %139,0007+ 0 278,000 0 278,000
e saE =2 2 23 315,940 290,940 25,000
201 Yer2 | 315,940 290,940 25,000
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< 29,700 18,000 11,700
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= 69,300 42,000 27,300
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2 297,000 180,000 117,000
= 29,700 18,000 11,700
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2 297,000 180,000 117,000
< 29,700 8,000 11,700
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WRES(RSNAD) 9.126 0 9,126
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